

$\begin{cases} y = \frac{-n+\tau}{r} \Rightarrow \tau n - 1 = \frac{-n+\tau}{r} \Rightarrow \tau n - \tau = \frac{-n+\tau}{r} \Rightarrow \Delta n, \Delta \Rightarrow n=1 \Rightarrow y=1 \Rightarrow A(1,1) \\ y = \tau n - 1 \end{cases}$
 $\begin{cases} y = \frac{-n+\tau}{r} \Rightarrow -n+\tau = \frac{-n+\tau}{r} \Rightarrow -\tau n + \tau = \frac{-n+\tau}{r} \Rightarrow n = \Delta \Rightarrow y = -1 \Rightarrow B(\Delta, -1) \\ y = -n + \tau \end{cases} \Rightarrow M\left(\frac{\Delta+\tau}{r}, -\frac{1+\tau}{r}\right)$
 $\begin{cases} y = \tau n - 1 \Rightarrow \tau n - 1 = -n + \tau \Rightarrow \tau n + n = \tau + 1 \Rightarrow n = \frac{\tau+1}{\tau+1} \Rightarrow y = \frac{\tau}{\tau+1} \Rightarrow C\left(\frac{\tau}{\tau+1}, \frac{\tau}{\tau+1}\right) \\ y = -n + \tau \end{cases} \Rightarrow M\left(\frac{1}{\tau}, \frac{\tau}{\tau+1}\right)$
 $AM = \sqrt{\left(\frac{1}{\tau}-1\right)^2 + \left(1-\frac{\tau}{\tau+1}\right)^2} = \sqrt{\frac{\tau^2}{\tau^2} + \frac{1}{\tau^2}} = \sqrt{\frac{\tau^2+1}{\tau^2}} = \frac{\sqrt{\tau^2+1}}{\tau}$
 $m_{BC} = \frac{\frac{\tau}{\tau+1} - (-1)}{\frac{\tau}{\tau+1} - \Delta} = \frac{\frac{\tau}{\tau+1} + 1}{\frac{\tau}{\tau+1} - \Delta} = -1 \Rightarrow m_{BC} \cdot m'_{AB} = -1 \Rightarrow m'_{AB} = 1 \Rightarrow y = x + b$
 $A(1,1) \Rightarrow 1 = 1 + b \Rightarrow b = 0 \Rightarrow y = x$
 $y = -n + \tau \Rightarrow n = -n + \tau \Rightarrow n = \tau \Rightarrow y = \tau \Rightarrow AH = \sqrt{(\tau-1)^2 + (\tau-1)^2} = \sqrt{2} \Rightarrow \frac{AM}{AH} = \frac{\frac{\sqrt{\tau^2+1}}{\tau}}{\sqrt{2}} = \frac{\Delta}{\tau} \checkmark$

$y = -\frac{1}{\tau}n + b \Rightarrow y + \frac{1}{\tau}n = b \Rightarrow \frac{|b|}{\sqrt{1 + \left(\frac{1}{\tau}\right)^2}} = \frac{|b|}{\sqrt{\frac{\tau^2+1}{\tau^2}}} = \frac{\tau|b|}{\sqrt{\tau^2+1}} = \sqrt{\tau} \Rightarrow \tau|b| = \sqrt{\tau^2+1}$
 $\Rightarrow |b| = \Delta$
 $\begin{cases} y = -\frac{1}{\tau}n + \Delta \Rightarrow y = 0 \Rightarrow n = 1 \cdot \tau \Rightarrow n = \tau \Rightarrow y = \tau \Rightarrow \Delta = \tau \\ y = -\frac{1}{\tau}n - \Delta \Rightarrow y = 0 \Rightarrow n = -1 \cdot \tau \Rightarrow n = -\tau \Rightarrow y = -\tau \Rightarrow \Delta = \tau \end{cases} \Rightarrow \Delta = \tau$
 $\Rightarrow \Delta = \tau$

$\Rightarrow y = (1-m)n + \tau \Rightarrow (1-m)n + \tau = \frac{\tau}{m}n + \tau \Rightarrow (1-m)n = \frac{\tau}{m}n \Rightarrow (1-m) = \frac{\tau}{m} \Rightarrow m = \frac{\tau}{1+\tau}$
 $\Rightarrow y = \frac{\tau}{1+\tau}n + \tau$
 $y = 0 \Rightarrow \begin{cases} (1-m)n + \tau = 0 \Rightarrow (1-m)n = -\tau \Rightarrow n = \frac{-\tau}{1-m} \\ \frac{\tau}{m}n + \tau = 0 \Rightarrow \frac{\tau}{m}n = -\tau \Rightarrow n = -m \end{cases} \Rightarrow \frac{-\tau}{1-m} = -m \Rightarrow \frac{\tau}{1-m} = m \Rightarrow \tau = m(1-m) \Rightarrow \tau = m - m^2 \Rightarrow m^2 - m + \tau = 0$
 $\Rightarrow \frac{\tau + m^2 - m}{\tau m - \tau} = \frac{\Delta}{\tau} \Rightarrow \tau m^2 - \tau m + \tau = 1 \cdot m - 1 \Rightarrow \tau m^2 - \tau m + \tau = m - 1 \Rightarrow \tau m^2 - \tau m + \tau - m + 1 = 0 \Rightarrow \tau m^2 - (\tau+1)m + (\tau+1) = 0$
 $\Rightarrow m = \tau \checkmark$
 $m^2 + \tau m - 1 = 0 \Rightarrow \Delta = \tau^2 + 4 \Rightarrow \frac{\Delta}{a} = -1 \Rightarrow -\tau$

$y = \tau n - \tau \Rightarrow n = 0 \Rightarrow y = -\tau \Rightarrow A(0, -\tau)$
 $y = \tau n + b \xrightarrow{(\tau, -\tau)} \Delta = \tau(\tau) + b \Rightarrow b = -\tau - \tau^2 \Rightarrow y = \tau n - \tau - \tau^2$

$m \cdot m' = -1 \Rightarrow 1 \cdot m' = -1 \Rightarrow m' = -1 \Rightarrow y = -x + C \xrightarrow{A(1,1)} 1 = -1 + C \Rightarrow C = 2 \Rightarrow y = -x + 2$
 $\begin{cases} y = -x + 2 \\ y = x + a \end{cases} \Rightarrow x + a = -x + 2 \Rightarrow 2x = 2 - a \Rightarrow x = \frac{2-a}{2} \Rightarrow y = \frac{2-a}{2}$
 $\Rightarrow \frac{2-a}{2} = \tau \Rightarrow b = \tau \Rightarrow \tau b - a = 1 \cdot \tau - (-\tau) = 2\tau \checkmark$